Peugeot 309 (3/5-d),
(rok prod.1986—1993),
Nr kat.A19609.

Zestaw $rubowy:
M12X70 2 szt.
M12X35 2 szt.
M10X35 6 szt.
Podktadki:
Fi10X35 6 szt.
Fi12X35 2 szt.

Fi12 4 szt
Fi10 6 szt.
9 Sprezynowki:

7% Fi10 6 szt.

Fi12 4 szt.

Nakretki;

M12 4 sz7t.

M10 6 szt.

',
@)

o)

Ja WAVAN
MUAANY

MI2XT0 |

&

Moment skrecajacy dla $rub i nakretek M8 25Nm; M10 55Nm; M12 85Nm; M14 135Nm ;M16 195Nm.

S WAVA

W

2

;{““
/%
el

RO

Ot

[
a\

=
la 7""? \ @Ti
D
N

%

%)
X
Yy

&

BAK-POLS)

A
AV
{/)
Al
]

o \a=
\_/

7 |

M10X35

BlZUB



